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(2) AERS B LT EEON 20 s 80 M 0 B &
(3) HEA% 3,000 A
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(1) FEEH 3,000 A (100.0%)
(2) B 1,596 N (53.2%)

(3) A%EN%E 1,595 A (53.2%)

XABEIEL, [F L7Z3GEAD IR (F72i3 720 A EE 2 RO TR L7223



EDREE

e ENES
JE i X FEEHE(N) A 2hENHE(N) ELVES O

HIR 164 93 56. 7
Inik 146 82 56. 2
4R 155 103 66.5
(i 49 24 49.0
TR R 145 73 50. 3
HHES 114 37 32.5
Kk 134 89 66. 4
BERA 60 39 65. 0
JH 78 31 39.7
K 98 45 45.9
& kA 31 16 51.6
ZEp: 126 70 55. 6
A 19 11 57.9
=1 102 48 47.1
[EEs e 159 72 45.3
B+t 109 71 65. 1
(=R 156 72 46. 2
FH 7R 163 86 52.8
EEn] 202 105 52.0
FERN 104 75 72.1
andl 118 40 33.9
JE it 143 65 45.5
. 163 69 42.3
K 70 39 55. 7
el 108 74 68.5
A B 82 42 51.2
Z DAt 2 0 0.0
eYIR VAN - 7
A& - 17 -

At 3, 000 1,595 53. 2
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50% +2.5%
60% % 7213 40% +2.5%
70% F721% 30% +2.3%
80% F 721% 20% +2.0%
90% % 7213 10% +1.5%
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